o)~

Page 2-4 1999 DS Golf Car lllustrated Parts List



FRONT BODY

ITEM | PARTNO. | DESCRIPTION A
1 2 3 4
1 1017080 | KIT, FRONT BUMPER (INCLUDES ITEMS 2 = 5) - ooooooooooooooeoeoooeoooeeoeoo 1 1
2 1016868 BUMPER, FRONT oo 1 1
3 7251 SCREW, PHILLIPS TRUSS HEAD, 5/16 = 18 X 1 oooooooooooooooooooeoeoooooeoeoeooo 2 2
4 7473 NUT, NYLON LOCK, 5/16 = 18 eovvoeeooeoooeoeoeeoeoeooeoeeee oo 2 2
5 1016967 RIVET, PUSH TYPE BLIND . oooooooooooooooeoeoeeeeoeoeoeeeeoeooeoeoeeeeoeeeeeeoeoe 2 2
6 1014198 | NAMEPLATE—GOLD .ooovooooooe oo 1 1
7 | 101692501 | BODY, FRONT—BEIGE ... .. oooooooooooooeoeoeeoeooeeoeoeeeoeoeoeoeeoeeeeoeeeeeee oo 1 1
7 | 101692502 | BODY, FRONT_WHITE wooooooooooooeoeoeoeeoeoeeeeeeoe oo oo e oo oo eeeeeoe oo 1 1
7 | 101692504 | BODY, FRONT_GRAY ooooooooooooeooeeoeoeeoeeoeoeeeoe oo e oo oo oo oo oo oo oo oo oo 1 1
7 | 101692510 | BODY, FRONT—DARK GREEN w.oooooooooo oo 1 1
7 | 101692512 | BODY, FRONT—CLASSIC BLUE woooooooo oo 1 1
7 | 101692513 | BODY, FRONT—BURGUNDY ooooooooooooooooooeooeooeoeoe e 1 1
8 | 101693901 | BODY, FRONT WITH HEADLIGHT OPENING—BEIGE ... . oooooooooooooooooooo 1 1
8 | 101693902 | BODY, FRONT WITH HEADLIGHT OPENING—WHITE ... ooooooooooooooooeoo 1 1
8 | 101693904 | BODY, FRONT WITH HEADLIGHT OPENING—GRAY ... oo 1 1
8 | 101693909 | BODY, FRONT WITH HEADLIGHT OPENING—DARK GREEN worovvoooooooooo 1 1
8 | 101693911 | BODY, FRONT WITH HEADLIGHT OPENING—CLASSIC BLUE worooooooooooo 1 1
8 | 101693912 | BODY, FRONT WITH HEADLIGHT OPENING—BURGUNDY .oovvooooooooooo 1 1
9 1011014 | TRIM, FRONT BODY oooooeeoe oo 1 1
10 1010435 | BOLT, CARRIAGE, 5/16 = 18 X 1 oo oo 2 2
11 1241 | WASHER, FLAT, 5/16 ..o oo oo 2 2
12 1011017 | SCREW, FLANGE LOCK ooovoooooooeooeoeoeeoeoeeoeoeeoeoee oo oo oo oo oo oo 6 6
13 1011394 | T-NUT, SLAB BASE (PACKAGE OF 4) w.ooovoooooooooeoeoeooeooeeoeoeoeoeoeoeoeeeeoeoeo 1 1
14 | 101347501 | BUMPER, SIDE GUARD TRIM ... 2 2
15 1012047 | SCREW, SELF-TAPPING, #8 - 32 X 3/8 wovvooooooooooooooooooeooooeooooeooeooeooeoeoeeoeeeoeoeeeeee oo 8 8
16 7251 | SCREW, PHILLIPS TRUSS HEAD, 5/16 = 18 X 1 .oooooooooooeoeoeoeoooeooeoeoeoooeeoeeeeeeoeeeeeeoe 2 2
17 7473 | NUT, NYLON LOCK, 5/16 = 18 oooooooe oo 2 2

1999 DS Golf Car lllustrated Parts List

Page 2-5




